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TURN OVER 

                        [Time : 2½ Hours] [ Marks : 75 ] 

Please check whether you have got the right question paper. 

N.B: 1. All questions are compulsory with internal option. 
2. All questions carry 15 marks each. 
3. Working notes from a part of the answer and have to be solved immediately 

after the question and not on the last page of the answer sheet. 
 

1.  P & T Co. provides you data pertaining to Machine Q and Machine R. 
Calculate : 
(a) Average rate of return, 
(b) Pay-back period 
(c) Net present value using a discount rate of 8% from the following 

information : 

Particulars Machine Q Machine R 

Cost (<) 10,00,000 12,00,000 

Life 5 years 5 years 

Tax Rate 35% 35% 

Profits after deprecation but before Tax 

Year P.V. Factor Machine Q (<) Machine R (<) 

1 0.926 1,20,000 1,50,000 

2 0.857 90,000 1,20,000 

3 0.794 1,10,000 1,30,000 

4 0.735 80,000 1,10,000 

5 0.681 80,000 1,00,000 

 
 

15 

  OR  
    

1. A) What is Capital Budgeting? Explain its importance. 7.5 
 B) Explain the difficulties faced in capital expenditure decisions. 7.5 
    

2.  A Company manufactured and sold 120 mobile phones in the year 2010. The 
production cost per unit was as under : 

Particulars < 

Material 5,000 

Labour 1,800 

Overheads 1,200 

Total Cost 8,000 

Profit 2,000 

Selling Price 10,000 

Other Information :  
a) Raw materials remain in stock for half month before issued to production. 
b) Finished goods will remain in go-down for one month before sale. 
c) All sales will be on credit and credit allowed to customers will be as follows:  

60% of sales credit period 3 months and 40% of sales credit period 1 month. 
d) 60% of raw materials requirements will be imported from the suppliers by 

making 3 months advance payments. 

15 



 Q.P. Code : 05082 
 

TURN OVER 

2 
 

  e) Wages and overheads are paid one month in arrears. 
f) Materials will be in process on an average for half month. 
g) Cash in hand and with bank should always be < 50,000. 

You are required to forecast working capital requirements of the company. 

 

 OR  
2. A) Explain Working Capital Cycle. 7.5 
 B) Discuss in brief the factors influencing working capital requirements. 7.5 
   

3. Prepare Cash Budget of Sushma Ltd. for 3 months commencing from April with the 
help of following information : 

Month Sales (<) Purchases (<) Wages (<) 

March 2,00,000 62,500 Nil 

April 75,000 80,000 20,000 

May 1,00,000 80,000 20,000 

June 1,00,000 1,20,000 25,000 

July 4,00,000 1,00,000 25,000 

 
a) Cash sales are 25% of total sales. 
b) 70% of credit sales are collected in the same month and balance 30% in the 

following month. 
c) Payment for purchases is made 40% in the same month and balance 60% in the 

following month. 
d) Interest @6% on debentures of <50,000 is paid in the month of June. 

e) Salary of <1,000 per month. 

f) Dividend received in the month of May <5,500. 

g) Cash Balance as on 31st March is <50,000. 

15 

 OR  
3. A) What is accounts receivable? Explain the different types of costs associated with 

accounts receivable. 
7.5 

 B) Discuss the different ways of improving cash flows? 7.5 
   

4. Piu Ltd. has the following data for the coming year : 
Sales (20,000 units) @ <10 each 

Variable cost is <80,000 

Fixed cost is <1,00,000 

Find out P/V ratio, Breakeven point in < and units, margin of safety. 

Also find the profit when sales is <5,00,000. What will be the amount of sales required 

to earn a profit of <75,000? 

15 

 OR  
4. A) What is Cost Accounting? Explain the benefits of Cost Accounting? 7.5 
 B) Explain the classification of Overheads. 7.5 
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5. A) Choose the correct alternative : 
1) Using of the same costing principles by several undertakings is called as 

___________ costing. 
a) Process costing 
b) Job costing 
c) Farm costing 
d) Uniform costing 

 
2) While calculating working capital, finished goods are to be valued at 

____________. 
a) Sales 
b) Total Cost 
c) Cost of Goods sold 
d) Both (b) and (c) 

 
3) Which factor is given utmost importance under payback period method? 

a) Liquidity 
b) Flexibility 
c) Time value of money 
d) None of these 

 
4) ___________ means no profit no loss. 

a) Break Even Point 
b) Margin of Safety 
c) Angle of Incidence 
d) All of the above 

 
5) If the conversion period is arrived at as 10, it means _____________. 

a) It takes 10 days to covert raw materials to finished goods 
b) 20 days cost of production is held on an average as work in progress 
c) Raw materials which can be consumed in 10 days are held in work 

in progress 
d) None of the above 

5 

    
 B) State whether the following statements are True or False : 

1) Direct materials plus direct labour plus direct expenses is equal to works 
cost. 

2) Salesmen’s commission is a fixed cost. 
3) If we pay creditors late, we require more working capital. 
4) Capital expenditure benefits accrue only in the current period. 
5) Depreciation on delivery van is a factory overhead. 

5 
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 C) Match the following : 
 

A B 

1)  Capital Budgeting a)  Angle of Incidence 

2)  Receivables Management b)  Telephone Charges 

3)  Profit area in Breakeven 
analysis 

c)  Collection of receivables 

4)  End point of Working Capital 
Cycle 

d)  Credit Sales 

5)  Office and administration 
overheads 

e)  Capital Investment Decisions 

  f)  Working Capital 

  g)  Salesman’s Commission 

 
 

5 

 
_____________________ 
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                    ( ‘amR>r énm§Va ) 

                    (doi … 21/2 Vmg) 

  

 (JwU … 75) 

               gyMZm … 1. gd© àíZ A{Zdm¶© AgyZ àË¶oH$mbm A§VJ©V n¶m©¶ AmhoV. gd© àíZm§Zm 15 JwU 

AmhoV. 
2. ‘wi B§J«Or ^mfoVrb àíZ à‘mU ‘mZmdoV. 

 
1. ¶§Ì ³¶y d ¶§Ì Ama g§~§Yr ‘m{hVr nr d Q>r H§$nZrZo {Xbobr Amho. Imbrb ‘m{hVrdéZ gamgar 

naVmdm Xa, naV’o$S> H$mbmdYr d {Zìdi dV©‘mZ ‘yë¶ 8% gyQ> Xa ¶mMm dmna H$éZ H$mT>m. 
 

Vnerb ¶§Ì ³¶y ¶§Ì Ama 

qH$‘V 10,00,000 12,00,000 

H$mbmdYr / Am¶wî¶ 5 df} 5 df} 

H$aXa 35% 35% 

Kgmè¶mZ§VaMm na§Vw H$amAJmoXaMm Z’$m 

df© dV©‘mZ‘yë¶ KQ>H$ ¶§Ì ³¶y (<) ¶§Ì Ama (<) 

1 0.926 1,20,000 1,50,000 

2 0.857 90,000 1,20,000 

3 0.794 1,10,000 1,30,000 

4 0.735 80,000 1,10,000 

5 0.681 80,000 1,00,000 
 

15 

 qH$dm  

1. A) ^m§S>dbr A§XmOnÌH$ åhUOo H$m¶? Ë¶mMo ‘hÎd ñnîQ> H$am. 7.5 

 ~) ^m§S>dbr IMm©Mo {ZU©¶ KoÊ¶mV H$moUH$moUË¶m AS>MUr ¶oVmV Vo ñnîQ> H$am. 7.5 

    

2. 2010 ¶m dfm©V H§$nZrZo 120 ‘mo~mB©b ’$moZMo CËnmXZ d {dH«$s Ho$br. à{V ZJ CËnmXZ IM© 
Imbrbà‘mUo Amho. 

Vnerb < 

‘mb 5,000 

‘Oyar 1,800 

IM© 1,200 

EHy$U n[aì¶¶ 8,000 

Z’$m 2,000 

{dH«$s qH$‘V 10,000 
 

15 
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A) 
~) 
H$) 

 
 

S>) 
 

B) 
’$) 
J) 

BVa ‘m{hVr … 

CËnmXZmg nmR>dÊ¶mnydu H$ÀMm ‘mb AYm© ‘{hZm gmR>çmV amhVmo. 
V¶ma ‘mb {dH«$snydu 1 ‘{hZm JmoXm‘mV amhVmo. 
gd© {dH«$s CYmarda Ho$br OmVo. {JèhmB©H$m§Zm Imbrbà‘mUo CYma H$mbmdYr {Xbm OmVmo … 
60% {dH«$s - 3 ‘{hZo CYma H$mbmdYr, 
40% {dH«$s - 1 ‘{hZm CYma H$mbmdYr 
60% H$ÀMm ‘mbmMr nwadR>mXmam§H$Sy>Z Am¶mV Ho$br OmVo d Ë¶m§Zm 3 ‘{hZo AmJmD$ n¡go 
{Xbo OmVmV. 
‘Oyar d IM© 1 ‘{hÝ¶mÀ¶m AdYrZo {Xbo OmVmV. 
‘mb gamgar AYm© ‘{hZm à{H«$¶oV amhVmo. 
hmVmVrb d ~±Ho$Vrb amoI H$m¶‘ <50,000 Agmdr. 

 

 qH$dm  

2. A) IoiË¶m ^m§S>dbmMo MH«$ ñnîQ> H$am. 7.5 

 ~) IoiË¶m ^m§S>dbmÀ¶m JaOoda à^md Q>mH$Umao KQ>H$ WmoS>³¶mV ñnîQ> H$am. 7.5 

    

3. gwf‘m {b{‘Q>oS> H§$nZrgmR>r E{àbnmgyZ gwé hmoUmè¶m VrZ ‘{hÝ¶m§gmR>r amoIrMo A§XmOnÌH$ ~Zdm … 

‘{hZm {dH«$s (<) IaoXr (<) ‘Oyar (<) 

‘mM© 2,00,000 62,500 --- 

E{àb 75,000 80,000 20,000 

‘o 1,00,000 80,000 20,000 

OyZ 1,00,000 1,20,000 25,000 

Owb¡ 4,00,000 1,00,000 25,000 
 

15 

 A) EHy$U {dH«$sÀ¶m 25% {dH«$s amoIrda Ho$br OmVo.  

 ~) CYmarÀ¶m {dH«$sMo 70% n¡go Ë¶mM ‘{hÝ¶mV Va Cd©arV 30% nwT>rb ‘{hÝ¶mV Jmoim Ho$bo 
OmVmV. 

 

 H$) 40% IaoXrMo n¡go Ë¶mM ‘{hÝ¶mV Va Cd©arV 60% nwT>rb ‘{hÝ¶mV {Xbo OmVmV.  

 S>) <50,000 À¶m H$O©amo»¶m§da 6% XamZo ì¶mO OyZ ‘{hÝ¶mV {Xbo.  

 B) doVZ Xa‘hm <1,000 Amho.  

 ’$) ‘o ‘{hÝ¶mV <5,500 Mm bm^m§e {‘imbm.  

 J) 31 ‘mM© amoOr amoI {e„H$ <50,000 Amho.  

 qH$dm  

3. A) àmárImVr åhUOo H$m¶? àmárÀ¶m ImË¶m§er g§~§YrV {d{dY n[aì¶¶ ñnîQ> H$am. 7.5 

 ~) amoI àdmh gwYmaÊ¶mMo {d{dY ‘mJ© ñnîQ> H$am. 7.5 
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4. {n¶w {b{‘Q>oS>Mr ¶oË¶m dfm©Mr Imbrb ‘m{hVr {Xbr Amho.  
{dH«$r (20,000 ZJ) <10 àË¶oH$s 
Mb n[aì¶¶ <80,000 
pñWa n[aì¶¶ <1,00,000 
Z’$m AmH$ma‘mZ JwUmoÎma, Zm Z’$m Zm VmoQ>m q~Xÿ (< d ZJm§‘Ü¶o) d gwa{jVVoMr H$S> H$mT>m. 
<5,00,000 {dH«$s AgVmZm hmoUmam Z’$m H$mT>m. 
<75,000 Z’$m {‘idÊ¶mgmR>rMr {dH«$s H$mT>m. 

15 

 qH$dm  

4. A) n[aì¶¶ boIm (Cost Accounting) åhUOo H$m¶? n[aì¶¶ boImMo ’$m¶Xo ñnîQ> H$am. 7.5 

 ~) IMmªMo dJuH$aU ñnîQ> H$am. 7.5 

    

5. A) ¶mo½¶ n¶m©¶ {ZdS>m … 

1) {d{dY CnH«$‘ g‘mZ n[aì¶¶ VÎdm§Mm dmna H$aVmV Ë¶mg ____________ åhUVmV. 
A) à[H«$¶m n[aì¶¶ 
~) H$m‘mMm n[aì¶¶ 
H$) eoVrMm n[aì¶¶ 
S>) g‘mZ / EH$gmaIm n[aì¶¶ 

 
2) IoiË¶m ^m§S>dbmMr JUZm H$aVmZm, V¶ma ‘mbmMo ‘yë¶ ____________ da Ho$bo 

OmVo. 
A) {dH«$s 
~) EHy$U n[aì¶¶ 
H$) dñV§yÀ¶m {dH«$sMm n[aì¶¶ 
S>) "~' d "H$' XmoÝhr 

 
3) naV’o$S> H$mbmdYr nÕVrV H$moUË¶m KQ>H$mbm gdm©V OmñV ‘hÎd {Xbo OmVo? 

A) VabVm 
~) bd{MH$Vm 
H$) n¡emMo doioVrb ‘yë¶ 
S>) ¶mn¡H$s H$mhrM Zmhr 

 

4) ____________ åhUOoM Zm Z’$m Zm VmoQ>m 
A) Zm Z’$m Zm VmoQ>m q~Xÿ 
~) gwa[jVVoMr H$S> 
H$) àmXþ^m©d H$moZ (Angle of Incidence) 
S>) darb gd© 

 

5 
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  5) énm§VamMm AdYr Oa 10 ¶oV Agob, Va Ë¶mMm AW© ____________. 
A) H$ÀMm ‘mbmMo V¶ma dñVyV énm§Va hmoÊ¶mgmR>r 10 {Xdgm§Mm AdYr 

bmJVmo 
~) gamgar 20 {Xdgm§Mm CËnmXZ IM© Mmby H$m‘mV KoVbm OmVmo 
H$) 10 {Xdgm§‘Ü¶o dmnabm OmUmam H$ÀMm ‘mb Mmby H$m‘mV KoVbm OmVmo 
S>) darbn¡H$s H$mhrM Zmhr 

 

 

    

 ~) Imbrb {dYmZo MyH$ qH$dm ~amo~a Vo {bhm … 

1) àË¶j ‘mb A{YH$ àË¶j ‘Oyar A{YH$ àË¶j IM© åhUOo H$maImZm n[aì¶¶ hmo¶. 
2) {dH«o$Ë¶mMr Xbmbr hm pñWa n[aì¶¶ hmo¶. 
3) YZH$m|Zm Ceram n¡go {Xë¶mg Amnë¶mbm OmñV IoiVo ^m§S>db bmJVo. 
4) ^m§S>dbr IMm©Mo ’$m¶Xo Ho$di Ë¶mM H$mbmdYrV {‘iVmV. 
5) {dVaU dmhZmdarb Kgmam hm H$maImZm IM© Amho. 

5 

    

 H$) ¶mo½¶ OmoS>çm bmdm … 

A ~ 

1)  ^m§S>dbr A§XmOnÌH$ A) àmXþ^m©d H$moZ (Angle of Incidence) 

2)  àmárMo ì¶dñWmnZ ~) Q>o{b’$moZ IM© 

3)  Zm Z’$m Zm VmoQ>m {díbofUmVrb 
Zâ¶mMm ^mJ 

H$) àmárMr dgybr 

4)  IoiË¶m ^m§S>dbmÀ¶m MH«$mMm 
AIoaMm q~Xÿ 

S>) CYma {dH«$s 

5)  H$m¶m©b¶ d àemgZ IM© B) ^m§S>dbr Jw§VdUyH$ {ZU©¶ 

  ’$) IoiVo ^m§S>db 

  J) {dH«o$Ë¶mMr Xbmbr 

 
 

5 

 
____________________ 


